On Thursday of last week we started using base 10 to help us with our
subtraction. As we only completed a few | would like you to continue to
practice the ones below. As an extra challenge the ones on the final page
including exchangiong a 10. This is something we have not yet covered in the
class so unless you feel very confident then please leave this once you are
back.
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Can you use the column subtraction method to

solve the following calculations?

1)

4)

7)

10)

13)

2 8
12

8 6
4 0

4 5
2 3

2)

5)

8)

11)

14)

47
12

4 3

3)

6)

9)

12)

15)

52
10

4 8
2 2

85
21

38 3
32

59
55



80
- 24

98
- 79

72
- 19

96
- 77

60
- 58

98
- 69

5=
- 46

53
- 49



